& EE

FIEMFRETHRRELHRE RBERHR 9[ 10f 11f 12| 13| 14| 15[ 16/ 17
FETE R
ERk2644H298 Fom [19.0[190[185]19.5[20.0[180[195[200 T BREELBEEGS, ABXTHRERS. BRAHET
3 B F5 ® TEIE | 50] 72 76] 67] 68] 80 77] 60] |  #%i% : AWk, ABKMHABEEAS
FVIETIR #A RB REEIE =R OB TELIE] [mem [mem [mem [mem [mem | [mem | FE . ABXTELBREGS
T4—ILREBHE S #Hi Bfitie® Rk B [ JE9E (2521 (473037 (2626 [39 ABRBERR—Y £ A—R B EEEIS
g {5 1 2 3 5 6 8
® B K E3 K E3 R K E3 K £ R K £ S K £ R
7l B B B EE B B 5l B BE 5l B BE BT B FLE
=3
B100m | 34 RO | 1406 | 7ok BEE® | 1446 | FA _WAO [ =0 RO | 502 &8 =C® T5.08 | £ BA® | 1514
-29 RARIZT #OEFLEEIST WEESST EATAI—F55T SEFHRELIST SEFHEEIST
%100m | _MREb__&® | 1412| AL EE® | 1412 | iREHTFE FE ZE3® | 1465 | IHa<o6 15:21 15:32
-26 J\&JAC BEEVA | res| ERAmr X)—F AR T AR T
i F FEER L ) = =[ (T ERKERG) N
B400mY |55 57.07 57:14 |2 7 % RE_B©)| 58:86 |, AH ELH0| 59:91 ®)| 60:08
= M L sl | G H 7
3 7 |t o 3 5
" "
aoomy |52 55:47 56:14 |51 ; 5 %©)| 62:41 76| 62:42
- | [sm 2xe 7x : 3
7 | ik HD1EE z
— i
B100m |_EA FIL ] 11:02 T1:25 | BREAES | 1179 e Te@m | 11.80] 10 J&X | 11.94 1208 BT &— ] 12.19 T2.71
-0.9 BwHAIR KX | BE LESS RIBAC RESPRINTS
55800m | B3 e |200:59] /Bl JE [2.03:65| DuyPriaZzE | 2.07:49)
o KEEXR &R B
%3000m| PaF Z=3 | 103852| PG BRF | 104548] )1l %1 | 1056:84] )1l DR | 1059:49 K EE |11.1295| HI = | 112463
ok EHERE X ABEIX XEERIX B B XEEIX |
B5000m| BBl =X | 160031] J—F N RENYY |17.2895] ZHMOZ&% | 175621
Hokk EUSHI5T HIFSRC PV
. B 1§x | 200
= B & K
g |20 fE_| 700 B X 6.69
" TEEFAIKR | +29 B & K +2.6
_|_EE BE | 544
ZER | EmEAEA | 30
BREF
100m | BN 2RO | 1087] X2 270 11:31| L BR® | T4 TH ARG | 1144 7H EXQ | 1146 82RO | 11501 | BA_BW® | 1157
-14 g B N&T = i EET N&ZT = BAKE |
800m | _AIZ_BaL® [202:17| HHH EH@ |202:46] B Ka®@ |2.0253| Ik BEQD | 20356 mia HEG |20399] FH PWED [205:11] =X EAQD |2.06:88] A&F XARD | 21079
Sork &L =] ' B EX ] FHRE TBAL XEXE NZER
5000m | K =38R | 164209 BA QD | 154883 FAF 5@ |16.19:16] KA Jeth(D) | 162791 ASRZ=B@D | 164097| JE.L 2 A | 164227 Be BE&Q | 164376] F 22 |16.50:85)
Sork =2 BAR W@ = W@ FHARE
A =20 & [ _BHC - A8 EES) INEEN A & (1 _BoE0)
s00my—| 18 [WUEBAZG)| 42:21 42:67 43:31 | 5 [T FREG| 43:50 | 5 [ REO)| 44:38 Bk REQ)| 44:63 | 5 [IAE_MAQ)| 44:74
m | EE K20 & &0 #@R0) " B B [EH EHQ)
it BAQD # [BRiLZ hie st AR50
% mzy;xagg E & [ %0 " [k JBE
1600mb—| 15 LUTBALG) 3.20:48 AR 3.26:51 3.28:21| m [EBmZ 72| 3.28:28| x [E& AHO)|
& [ BR_@e) 7 % [0 _a@a0) * (6% BMQ)
WE A2 | % [3E BEQ LA EGESS
En E%Eiﬁ—%a) 197 194 185 | FF:& K@ | 1.75 - 10 FE BRFD | 1.70
Pl ' m i e | = — ®mEE
- RIE_BAQ | 4.0 360 | U _&md | 3.40 2.60
BB N =5
- B Ame | 6.82 682 | HEBEE® | 6.69 662 | S1IE =@ | 658 | BB 8@ | 645 | 1B EAQ | 640 | Hlm =@ | 6.34
= = R +2.3 +3.1 EETE | +44 +1.1 A8 +3.1 R & +3.3 REA +3.3 ) +3.0
[ \F EHG | 1245 179 | &F ZFBHQ | 1151 1148 2% #—© | 1085 S M Z5h@ | 1055 | FH BE—@ | 1000 | BIH ZRQD | 892
7 BAKE NS 5 I\Z¥R ABKE
BRET
100m | Bk DREQD | 1300 B BREO | 1391 | 1K 5= | 1340 T340 | B0 RE® | 1343 [ T @ | 1345 | ARARF®Q | 1360 | TH TIEQ | 13:58
-2.1 = NS N\&ZT NS B RS 2
3000m | & BUFD [100859| AR PR 104850 At m/9@ | 105263 105279 #x  &E@ |11.1867| B bb@ | 112779| mMA @ | 11.2007| KE M@ | 11.39:18
bk BAR B @ BAR NS BLIAWR W ™ B
E 3 INELEEETR EEREE) ANENES . [RRRERA
4891 | x [mm_gza)| 49:19 H0 NEQ)| 50:48 50:71 F@ FHRO)| 51:10 | @ [ER_ %202)| 51:16 “; XE _EA0)| 51:67
£ (L% #me ER XK £H 5| u 9L oR & X £HEQ)
% [ms vt %[ Bio) B [FREnTG % [BAHGH “IFE =m
158 | & B/57@ | 155 | Al BEB® | 150 750 | = M&@ | 150 | M ®@ | 145 | B m&@ | 140
= S E_ A & ] S N
522 | &% S4@ | 521 | Bfe F¥Q@ | 514 511 | BEDHEQ | 489 | =l MR | 482 | E AR | 4.79 148
+3.8 i +3.1 EAE +4.3 +2.5 BAER | +3.3 B = +4.3 N +3.1 +2.3
970 | EERERQ | 968 | W1__MR® | 946 91T | R _RBEQ | 837 | RBMRTFQ | 7.35 | bk EEQ | 7.16 | =R HE® | 712
RBa EEL 5 ¥_= EBEX =
T1.60 | I 2080 | 11:95 | Bk ARED | 1204 | Bl mAQ | 1207 | 7 B 12:10| A= BEQ | 1213 B BQ@ | 1218 | AE XFQ | 12:24
. 2 EE FE RETA & KRAC FERFT A&
3000m | P EETQ [9.16:08| P BIQ |9.1741| =R KRG [9.2891] AFUFEGE [9.39:29| FMH E#Q |942:35| FHE REG |9.4524] ik HIAQD |9.4701| & EHS |9.56:60
Hhk 33 = & B2l Y 33 TER EEDIER A
X [5F# B0 IS PNE) % [MREREQ % [ EBAEG)| BEET M EEEN 7 | ¥
soomyu—| * [EE Hxa) 45:85 J_g_g_:‘,m 513)| 46:16 % [T )| 46:51 AR FFG)| 46:68 AH__2)| 47:18 | [N E%@)| 47:49 | X [FHE | 47:57
Alng wE0 AE EG % [BH HL0) T AKQ BA_#A = [EE XEG) NSO
¢ k= it#o) % [m= r20) B [EAM BRQ) & [k BT # R B " BRI FE A—
g B EHQ [ 63T | Ril & 6.00 FIRaEFCED | 5.74 | KB %5hQ | 5.70 | Jnk HAQ | 66/ | ARk BQ | 553 | BHH BAQ | 552
= EiEE2 +1.3 A | +1.8 ARTE +0.9 | +3.1 ARETE +3.8 W +1.8 A +1.5
FELT
T00m | XN _RBQ | 1303 | BEE WO | 1316 T HM@ | 1330 | 7 BEQ 1a;aa| EIAEE ) 1a;aa| Tk Z8@ | 1361 | LERRTQ | 1377
-2.5 EIRKE R = ELEN W HL SRR ENE 0
800m | BA FEQ |2.1681| ALl mwd |2.17:77| BARRFQ |22282] BE B#HD |22347] BE 5@ |22835] BA BFQ |2.20:15] RE BEQ 23304 =@ ==0 | 23307
Fkk P P EIE2I1IE A BB AT REHR Al
) W[k _EEQ A EERES] EAEEEEEDR) B [=8 ©Po)
400miL— 49:91 50:80 3| 51:90 FE BE0)| 5208 | @ (e _270)| 5294 | % (M@ BZQ)| 53:27 FR BEBG)| 53:56
H AW LB 5 HE BH
# [IER~FQ ® [ER KRG i) 3 W [RE BR0)|
r— 508 299 493 | & TH 475 | 55 RAQ | 464 | kEH MO | 461 | BA AE® | 461 | AL HED | 460
= +3.3 +4.5 +3.3 T fE +3.6 EHEE2 +2.5 +3.1 E W +1.8 AN | +2.7




